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Letter Shape Spellings

Challenge Task

Can you work out which of your ‘solv’ and ‘sign’ spelling words fit into these letter shapes? Think about the long and tall letters in each 
word. The first one has been done for you. Only nine of your spelling words have been used. Which one is missing?

1.

4.

7.

2.

5.

8.

3.

6.

9.

s o l v e

Which of the words haven’t you used? Could you write it in a sentence with a subordinate clause and an adverb?
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Which of the words haven’t you used? Could you write it in a sentence with a subordinate clause and an adverb?

Ascender and Descender Spellings Answers

Accept any sentence with the word ‘solution’ within it that also contains a subordinate clause and adverb,  

e.g. After the mathematician had spent hours at his desk, he finally came up with a solution to the complex equation.


